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freferfaa frcer o1 aga araeT & afew 3R 3! uTer Hifiw -
(i) I7-97 IR @S] H G975 & — &, &, T AR & | @ 597 3THTH & |
(ii) @WUE-F — Jo7-T&IT 1 @ 20 TF 31d TG-IFIT JHR & 97 &, F9% 97 1 3%
1 8 | I 97 FT I T Ieg 7 U 1T H G170 |

(iii) @UE-G — Fo7-F&IT 21 & 27 TF TG-IF0T TR & 7 &, Jd%b T97 2 3] &1
g/

(iv) @S- — Jo7-G&TT 28 & 34 T AH-ITT JHR-1 & F97 8, I J97 3 3Hh1
B3/

(v) TUS-Y — J37-G&IT 35 G 37 % H-3T0T JHR-2 & J97 8, I J97 5 b1
B3/

(vi) I GHF fabeq 787 8 | aifd, q1-g1 371 3 & Fo41 4, d7-di7 37Hl & & Fo91 7
TEIT Grer-qia 37eb] & @1 5941 8 SR a3 o971 737 8 | 08 F941 7 a7 v &7
farbeq &7 3T &fsra |

(vii) 3G SR, FTETFIATER, T GUE K Jo7 & 19 JEf=red a7 lRT 70 & |

(viii) FAFAST FYET I 2T & FINT 1 3FAT T 2 /|
©us —<h

feu U s1g=se @i ufeu 3R A= fou wea 18 5 % I AR -

PSS! UM T gHIT Toed STE a1 g S 9T A1 O &l dohdl & |
ITEN b AR W 8 AgNO, foerm 1 KI forere # firemn Siar & o skor-31reifd
hIASS! T SdT & | ShlcATSS! ShuTl W ST e Ueh SY AT hl Iufefd shiciisg! @i
=1 wTRred TeM Hidt @ 3 afe, forel awe, srmerw ger fean S, &t |iet <1 Thed 81 ST
3 | gafeRTl |ieT, genft diet shi g H T8 & Thicd &1 9I1d & |

1.  ©fcT U IR TSN ST FATHRO 8 ?

2. HIAESl HUI I S Td Teh S8 a1 ohl IUTEfa Trfires oi Jem it 8 7

3. AgNO, foerm 1 KI foerem # firet w swor-Smaf¥r aiet @i 97w 811 & 2

4.  gafoeft |ict 1 @hed 1 o fore e fafer o1 am faRaw |

5.  KIAK,SO, U & $HH-H1 fqegd-3Taed a-Teish Aicl o whad o fo1g 3tferes =12 ?
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)  Question paper comprises four sections — A, B, C and D.

(it) There are 37 questions in the question paper. All questions are
compulsory.

(iti) Section — A : Q. No. 1 to 20 are very short answer type questions
carrying one mark each. Answer these questions in one word or one
sentence.

(iv) Section — B : Q. No. 21 to 27 are short answer type questions carrying
two marks each.

(v) Section — C : Q. No. 28 to 34 are long answer type-I questions carrying
three marks each.

(vi) Section — D : Q. No. 35 to 37 are long answer type-II questions
carrying five marks each.

(vii) There is NO overall choice in the question paper. However, an internal
choice has been provided in 2 questions of two marks, 2 questions of
three marks and all the 3 questions of five marks. You have to
attempt only one of the choices in such questions.

(viit) However, separate instructions are given with each section and
question, wherever necessary.

(ix) Use of calculators and log tables is NOT permitted.

SECTION - A
Read the given passage and answer the questions 1 to 5 that follow :
Colloidal particles always carry an electric charge which may be
either positive or negative. For example, when AgNO, solution is added to

KI solution, a negatively charged colloidal sol is obtained. The presence of
equal and similar charges on colloidal particles provide stability to the
colloidal sol and if, somehow, charge is removed, coagulation of sol occurs.
Lyophobic sols are readily coagulated as compare to lyophilic sols.

1. What is the reason for the charge on sol particles ?

2. Why the presence of equal and similar charges on colloidal particles provide
stability ?

3.  Why a negatively charged sol is obtained on adding AgNO; solution to KI
solution ?
Name one method by which coagulation of lyophobic sol can be carried out.

5.  Out of KI or K,SO,, which electrolyte is better in the coagulation of
positive sol ?

5642, 3 P.T.0.




T3 6§ 10 Teh Ieg I 2
6. BT e Wisha § fohelt 3%k H @ PbS § ZnS 1 Y i o 7T T 3T
am fefeT |

7. y—CH,01 3 _)—CHy-Cl, % % % OH 3 wr 8,1 s & s
A s R 2

8. CH,NH, 3R CH,OH # ¥ fer&eh1 Fa1eh ST B & ?

9. Tyafefiga # @ o @ (ATehifes) fierri g 7
fafafem, =, Wfedm

10. QEMT HhISEl 1 SIS aTel 54 I T fIRaT |

T 11 8 15 Tgfoheia I 8 :
11. &% [Co(en),]* # ‘Co’ h ITHZHASH H&AT &

(@) 3 (b) 6 © 4 @ 5
12. U JAHEA T, - FTHA el o) T8 ATER FA THIAT § e

(@) Egg=Eqg (b) Egg=0

©)  Eag > B (@ Earg < B
13. [ hife ATfsRa o foTu 31eriy e fereh SR BT R 7

0.693 2k 2.303 [Rly
@ == (b) Rl © = @ =

(ST [R], SAThEeh shi TR Agal Ta k o fRiie 2 )

14, THADHME (A, N IqHAHE (A) FFAl & g forea &= foured s wor fohm
YhR TEfd 8 ?

2 5 4
(a) At=§A0 (b) AtngO © At:;% d) A=24,

15. o—D(+) ofhid 3R B-D(+) o[hid &
(a) g amEEe (b)) Ufafemsew (¢) T (d) gau gHEId

5642, 4




10.

11.

12.

13.

14.

15.

Questions 6 to 10 are one word answers :
Name the depressant which is used to separate PbS and ZnS containing
ore in froth floatation process.

Out of <:>—CH2CZ and Q_CHz—CZ, which will react faster in Sy1

reaction with OH=?

Out of CH;NH, and CH,OH, which has higher boiling point ?

Which one of the following is a narcotic analgesic ?
Penicillin, Codeine, Ranitidine

Write the name of linkage joining two monosaccharides.

Questions 11 to 15 are Multiple Choice Questions :
The coordination number of ‘Co’ in the complex [Co(en)3]3+ 1s

(a) 3 (b) 6

(© 4 @ 5

An electrochemical cell behaves like an electrolytic cell when
(a) Ecell = Eexternal (b) Ecell =0

(C) Eextemal > Ecell (d) Eextemal < Ecell

The half-life period for a zero order reaction is equal to

0.693 2k 2.303 [Rlp
(@ = (b) R, © = @ =

(where [R], 1s initial concentration of reactant and k is rate constant.)

The crystal field splitting energy for octahedral (A)) and tetrahedral (A)

complexes is related as

2 5 4
(@ A= 9 A, b)) A= 5 A, (cp At= 5 A, (D) A =2A4,
o—D(+) glucose and B—D(+) glucose are
(a) Geometrical isomers (b) Enantiomers
(¢) Anomers (d) Optical isomers

5642, 5 P.T.0.




16.
17.

18.

19.

20.

21.

22.

T3 16T 20 :

(A) IRHYA (A) 3 SR (R) SHT Tt YA & 3N HR0 (R), IA0HLH (A) I &
R |

(B) hshyd (A) 3R HRU (R) ST & H2H &, T BRI (R), 3R (A) 61 Tt
R E B |

(C) MR (A) &l 8, T RO (R) Teld HAA 7 |

(D) 31 (A) TToTd 8, W SR (R) TE A 7 |

aAftRem (A) ¢ Cl, i 3man F, 1 atmary foiis Tt &6e gt 2 |

&Rt (R) : FANH Sl 31U R 3T 31fren ferega - swoTTedes 2t 2 |

AR (A) :  TET T TATE YUH hITE FerTIcrehl s ITe T & |

&Rt (R) : SATTERAT o ST STet bl AT T R &t 8 |

afirRem (A) : GhHYT 13Tl o oI 3= 8Id § |

&rut (R) ;. HehA TTg3Ti A d Hareh g0 YRd BT R |

afiwem (A) : (CH,), C-O—CH, =1 HI % 1y 31ffsran 8 W (CH,), C-1 3R
CH,OH YT 8 & |

FRoT (R) . arfifrer S 1 fernfafy gro @i 2 1

afirRem (A) ;S5 TR Shisol-shraed 3fufsha wefdia & a2 |
FRUT (R) . HEiFIA THE Th Hihash OHg ® 3R soldi-nht wfaeer

SAfufsFamd g g | 20 x 1 =20
LG LRG|
TRIIIETEE 3R (MnO,) 8 KMnO, % Tt § |waig "qfoid Temifeh SHiehon i
fTReT | 2
Jreran
(i) IR (1) 3R @ (i) 77 (1) 3E W 3cieha SEshive (crzoﬁ‘)%ramaﬁ
JTeReTeRTeh TR guTi o foTu w=gfeta STrfes Teftertor faflaw | 1+1=2
W@?ﬂ%\_ﬂa
() 3fe T faeeh grT faeimres & gueh fohT 7T foeee R e g« 9§ 31
HERSHIPIRE 11

(i) 3G UHTE T THiEH fireen Srar g ? 1+1=2




16.

17.

18.

19.

20.

21.

22.

Questions 16 to 20 :

(A) Both Assertion (A) and Reason (R) are correct statements, and
Reason (R) is the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct statements, but
Reason (R) is not the correct explanation of the Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is wrong statement.
(D) Assertion (A) is wrong, but Reason (R) is correct statement.

Assertion (A) : F, has lower bond dissociation enthalpy than C/,.

Reason (R) : Fluorine is more electronegative than chlorine.

Assertion (A) : Hydrolysis of an ester follows first order kinetics.

Reason (R) : Concentration of water remains nearly constant during
the course of the reaction.

Assertion (A) : Transition metals have high melting point.

Reason (R) : Transition metals have completely filled d-orbitals.

Assertion (A) : (CH,); C-O-CH, gives (CH;); C-I and CH,OH on
treatment with HI.

Reason (R) : The reaction occurs by S 1 mechanism.

Assertion (A) : Benzoic acid does not undergo Friedal-Crafts reaction.

Reason (R) : The carboxyl group 1is activating and undergo
electrophilic substitution reaction. 20x1=20
SECTION-B
Write the balanced chemical equations involved in the preparation of
KMnO, from pyrolusite ore (MnO,). 2
OR

Write the balanced ionic equations showing the oxidising action of acidified
dichromate (Cr,O 3_) solution with (1) Iron (II) Ion and (1) tin II) ion. 1+1=2

What happens when

(1) a pressure greater than osmotic pressure is applied on the solution
side separated from solvent by a semipermeable membrane ?

(11) acetone is added to pure ethanol ? 1+1=2

5642, 7 P.T.0.




23.

24.
25.
26.

217.

28.

29.

30.

FrefarRaa wpett w1 311g 3 ot Ut A e Heptr faafaw -
(i [Ni(CO),] (i) [CoFJ*
(oY) shETh Ni = 28, Co = 27) 1+1=2

0 T fefee | 298 K T 760 mm Hg @& W CO, sl 5t H forerdn giepferd
HIT | (298 KWSAH CO, % few Ky = 1.25 x 10° mm Hg 8) 2

T o ToTU IR IgTetul & et fforRaa wei =t wftafva <hife -

() I (ii) RO ST9HTSH 1+1=2

eehiE <l faga T | freferfea it sufeafa guria & fore srfwfremd fafe -

() UfceEme T (i) TR Ueehiaiel 1+1=2

fferian ufewn e & figra fafau

(a) TSI TEEAT TISHTOT (b) ARG (ShTHITHY) 1+1=2

AU

(i) Cu,S¥Cu (i) "% [Ag (CN),] ¥ Ag

! YT i § TG THReh TR ol feafay | 1+1=2
Qug :

N, O % J&H wife 3ATee % foIe I feerres frfetiiad wftertor g e man & -
k = (2.5 x 1014 1) g(-25000K)/T

38 1ffsRan % fou Ea 31 a3 feries ot womn Hifse afe saeht s1eig 300 fme 3t | 3
= o smH feg e E

Cr?*, Cu?t, Cu', Fe?', Fe3", Mn3"
0 U 39 AT ] U1 ST
(i) T TS ATEAED &
(i) i forere § sremh 2
(iii) Tk T AT 2 |
e oh foTt IUeR I ST | 1+1+1=3

5g a5 37 (M = 122 g mol™!) 35g S=fi- # =ie W f&ameh § 2.94 K &1 704
BIar ® | afe g foerm ® fgaa s 2 @t sfiges 37t 1 T feha wfersra g 2
(s=5fH o feTe K, = 4.9 K kg mol ™) 3




23.

24.

25.

26.

217.

28.

29.

30.

Write IUPAC name and hybridization of the following complexes :

@)  [Ni(CO),] (i) [CoFJ*
(Atomic number Ni = 28, Co = 27) 1+1=2
State Henry’s law. Calculate the solubility of CO, in water at 298 K under
760 mm Hg.
(K for CO, in water at 298 K is 1.25 x 10 mm Hg) 2

Define the following terms with a suitable example in each :

(1) Tranquilizers (i1) Anionic detergent 1+1=2

Write the reactions showing the presence of following in the open

structure of glucose :

(1) an aldehyde group

(11) a primary alcohol 1+1=2

Write the principle of the following refining methods :

(a) vapour phase refining

(b) chromatography 1+1=2
OR

Write chemical equations involved to obtain :
(1) Cufrom Cu,S

(1) Ag from [Ag (CN),]” complex 1+1=2

SECTION : C
The rate constant for the first order decomposition of N,O; is given by the

following equation :
k = (2.5 x 1014 Sfl) e(fZSOOOK)/T
Calculate Ea for this reaction and rate constant if its half-life period be
300 minutes. 3

Following ions are given :
Cr?*, Cu?', Cu™, Fe?", Fe3', Mn3"
Identify the ion which is
(1) a strong reducing agent.
(11) unstable in aqueous solution.
(111) a strong oxiding agent.
Give suitable reason in each. 1+1+1=3
The freezing point of a solution containing 5g of benzoic acid (M = 122 g
mol!) in 35g of benzene is depressed by 2.94 K. What is the percentage
association of benzoic acid if it forms a dimer in solution ?
(K, for benzene = 4.9 K kg mol 1) 3

5642, 9 P.T.0.




31. TAfaiRad sgerent § Tshete o A1 TR AT faRaw -

() HEEH6, 6 (i) e (i) PHBV 1+1+1=3

32. feuwmu frdw & srgem fmfafaa it o srafem Hife
() b focad s dgd FA T ;
(CH,),NH, CH,NH,, C.;H.NH,
(i) e foerm o aRehIT T o Ued A | ¢
(CH,),N, (CH,),NH, CH,NH,
(iii) EUATRI b TEd FH | :

(C,H,),NH, (C,H,);N, C,H,NH, 1+1+1=3

33. TrAfaftga srfufsranaii o 3ce /3amei =i ferfeT :

OH
Q) @ PCC
OH

) COOH (CH3C0)50
@) CH3COOH
0
Hy0t
(111) + CH;MgBr —— 1+1+1=3

AU

(a) Tr=feriga Sy ! stfufsran <1 forafafyr fofaw -
(CH,), C_py ™ NaOH (CH,), C-OH + NaBr
(b) Toformem gvcivor grr 2-Afe-2- et o foem & fere sl feiflgw | 2+1=3

5642, 10
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31. Write the name and structures of monomers in the following polymers :

() Nylon 6, 6 (i) Terylene (i) PHBV 1+1+1=3

32. Arrange the following compounds as directed :

(1) Inincreasing order of solubility in water :

(CH,),NH, CH,NH,, C,H,NH,

(1) In decreasing order of basic strength in aqueous solution :

(CH,);N, (CH,),NH, CH;NH,
(111) In increasing order of boiling point :

(C,H,),NH, (C,H,);N, C,H,NH, 1+1+1=3

33. Write the product(s) of the following reactions :

OH OH
- PCC . COOH (CH3C0)90
¥ @ ) ©/ CH3COOH”
T +
H.0
(iii) © + CH,MgBr —3— 1+1+1=3

OR
(a) Write the mechanism of the following Sy 1 reaction
(CH), C-Br 29-NaOW, (e c-OH + NaBr

(b) Write the equation for the preparation of 2-methyl-2-
methoxypropane by Williamson synthesis. 2+1=3

5642, 11 P.T.0.
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34. (1) TUAATSA U WfeIm TATHFATES o 1Y 2, 2, 3-ITZHIUA-3-sHU=A i B-farefio gra
fAfia g Ueehia i g faflau |
(i) Freforfaa et & HH-a1 T A w8 2
Br Br

A\

(i) Fe=ferRaa @ (A) 3T (B) =1 gg=nw
Br

(A)<Na/32l‘$5§‘iﬂ @ Mg/ﬂ@éﬂ'{)(B) 1+1+1=3
AU
Frfefiaa uftads 3ma 8 gu= w81 ?

() R-15Y 1-ANEeA
() s O UEHRRAE
(iii) TS & TS AT3LTEA 1+1+1=3

Qg i ¥

35. (a) T=feifaa & foru mor difSe
() 3RS | T qoh —2 STTHRITHIT ST G211+ <hl T Tt 2 |
(i) HF & HI d 31<flg Ae10 seei @ |
(iti) 9 SO, T8 o= hl TE HTER HLA 2 |
(b) S—0-S F Tt TeHL o IFHIFA shl TL=AT ST |
() Tr=ferfga aefientor 1 qui Hifsre -
XeF, + H,0 - 3+1+1=5
KOG
(a) o 16 % EESIZS H W 39 B35S i fIRgT :
G) SIS ATEES R |
(i) o srmeee o AfEaa B |
(iii) T FH 3feres a9 wrEf R |
Tk o fTT Iuger ST ST |
(b) fr=ferRaa Trfiertor qui Hifve .
S+ H,80,—
(|75)
Cl, + NaOH —»
(3UEI TF ) 3+1+1=5
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34. ()

(i1)

(iii)

Write the structure of major alkene formed by B-elimination of
2, 2, 3—trimethyl-3—bromopentane with sodium ethoxide in ethanol.
Which one of the compounds in the following pairs is chiral ?

V.Y

Identify (A) and (B) in the following :
Br
A) <Na/dry ether @ Mg/dry ether , (B) 1+1+1=3
OR

How can you convert the following ?

@)
(11)
(iii)

35. (a)

(b)
(©

(a)

(b)

But-1-ene to 1-iodobutane
Benzene to acetophenone
Ethanol to propanenitrile 1+1+1=3

SECTION : D
Account for the following :
(1) Tendency to show —2 oxidation state decreases from oxygen to
tellurium.
(11) Acidic character increases from HF to HI.
(iil) Moist SO, gas acts as a reducing agent.

Draw the structure of an oxoacid of sulphur containing S—-O-S
linkage.
Complete the following equation : 3+1+1=5
XeF, + H,0 -
OR
Among the hydrides of group 16, write the hydride
(1) Which is a strong reducing agent.
(11) Which has maximum bond angle.
(111) Which is most thermally stable.
Give suitable reason in each.
Complete the following equations :
S+ H,S0,—>
(Conc.)
Cl, + NaOH —

(Cold and dilute) 3+1+1=5

13 P.T.O.
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36. (a) 0.05M KOH faera =% sicH o1 foega Ifeier 5 x 103 ohm & | 8T 3TIRI-
HIE FTHA 0.625 cm? 3T TS 50 cm B | $Hh! TTUerehdT, dTetshal T ATl
ATl hl THehel™ STy |
(b) W sorERISl < "1 CuCl, o At foere & dgdsiaaed | 9w 3crgi hl

STferd SHIT |

. 0 = 0 =
fem2: BC .. =+034V, B{, )=+ 136V

E° =0.00V, E,
H*/Hj (g), Pt (
F
(a) Tr=fcfaa o & foT e.m.f. uftpfera Shifse
Zn(s)/Zn2* (0.1 M) | | (0.01 M) Ag*/Ag(s)

.o _ 0 _
fen?: B .., =-0.76V, E{ i = +0-80V

\ oyiio) =+ 123 V) 3+2=5

(b) X IR Y T IYATII & | TR W X’ hl AR FTetehdl 2.5 TAT & STl &

SEfeh Y’ 3l 25 AT §¢ S & | T Q1§ 8 A gl TgasTeaed g SIRF 2 3+ 2=5
37. (a) U i Alfes (A) feepr snfoaes g3 C,H,0 2, 2, 4-3L.uA.h. sifiers &

1Y AT -oATd AT T B | Ig i — ANTehHeh bl ITqTeId T&l LT Afeh
NaOH 31R 1,3 &1 T & W FRACGH H1 Gl 68T =11 @ | Ak
(A) NaBH, % @19 37af=d 89 T Afes (B) <1 @ St 915 H,S0, % 919 T
W Tt rfuferan g Afes (C) s=maT 8 | Aifires (C) 3T 3798 W UAd &
T YA S |
(A), (B) 3T (C) st wga™ HIfT qem bl T=AN fafgu | Afies (A) @)
NaOH/I, 31 (ii) NaBH, % @ sfirfsrand faflew |

(b) =T T :
() U ShT TR T ohT 3T eRt0T 3TTE BT # |

(i) UfceaTsel SR HIEHI o o-FTEGSH hl Fehid AT Bl & | 3+2=5
g
(a) Tr=feTRea syt st TEATd SHST
(i) AT T HRHTETE G (i) A 1 gHiuEieA
(b)  Frferfiea = g 3care /e 1 fofa -

. (i) DIBAL-H
() CH,—CH=CH-CH,—CN ,

(ii) H3O™
.. CI‘O3
(i) CH,~CH,-OH —=»
(c) 39 U 3R IO o T hy fadig s ? 2+2+1=5
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36. (a) The electrical resistance of a column of 0.05 M KOH solution of
length 50 cm and area of cross-section 0.625 cm? is 5 x 103 ohm.

Calculate its resistivity, conductivity and molar conductivity.
(b) Predict the products of electrolysis of an aqueous solution of CuCl,

with platinum electrodes.

1 . 0 _ 0 _
(Given : ECu2+/Cu =+0.34V, E(% Clz/Cl‘) =+1.36V
(6] (6]
= . = 4+ . + =
k H*/H) (g), Pt 0.00V, E(% 0,/H,0) 1.23V) 3+2=5

OR
(a) Calculate e.m.f. of the following cell :
Zn(s)/Zn?" (0.1 M) | | (0.01 M) Ag*/Ag(s)

Given:E° ,, =-076V,E° ., =+080V
Zn“"/Zn AgT/Ag

[Given : log 10 = 1] 3+2=5
(b) X and Y are two electrolytes. On dilution molar conductivity of ‘X’

increases 2.5 times while that Y increases 25 times. Which of the two

1s a weak electrolyte and why ?

37. (a) An organic compound (A) having molecular formula C,H,O gives

orange red precipitate with 2, 4-DNP reagent. It does not reduce
Tollens’ reagent but gives yellow precipitate of iodoform on heating
with NaOH and I,. Compound (A) on reduction with NaBH, gives

compound (B) which undergoes dehydration reaction on heating with
conc. H,SO, to form compound (C). Compound (C) on Ozonolysis

gives two molecules of ethanal.
Identify (A), (B) and (C) and write their structures. Write the
reactions of compound (A) with (1) NaOH/I, and (i1)) NaBH,.

(b) Give reasons :
(1) Oxidation of propanal is easier than propanone.
(i1) oa-hydrogen of aldehydes and ketones is acidic in nature. 3+2=5
OR
(a) Draw structures of the following derivatives :
(1) Cyanohydrin of cyclobutanone
(11) Hemaiacetal of ethanal

(b) Write the major product(s) in the following :

) CH,-CH=CH-CH,cN - DIbAL-H
2 TR (i) H3OF

.. CI‘OS
(i) CH,-CH,-OH ——

(c) How can you distinguish between propanal and propanone ? 2+2+1=5
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